This document is meant to serve as a Quick Set-Up and Parts Guide only.
Installation manuals referenced below should be downloaded and reviewed for complete installation instructions.

GT 710/8710 Swing Doors Low Energy Quick Set-Up and Parts Guide
P/N C-00091 Rev 8-10-16

N
NABCO:

Nabco Entrances Inc. S82 W18717 Gemini Drive Muskego, Wisconsin 53150
Phone: (877) 622-2694 Fax: (888) 679-3319 www.nabcoentrances.com

Associated Manuals Part Numbers: Low Energy Swing Door Systems 710/8710 (P/N 15-10683)
Magnum IV Control Wiring and Adjustment Manual (P/N C-00084)
Low Energy Swing Door Owner’s Manual (P/N C-00125) for Decal Installation
NABCO Price Book (P/N 16-9244-30) (for Sensors, Switches, and Accessories)

m e Turn OFF all power to the Automatic Door if a Safety System is not working.

* Instruct the Owner to keep all power turned OFF until corrective action can be achieved
by a NABCO trained technician. Failure to follow these practices may result in serious
consequences.

* NEVER leave a Door operating without all Safety detection systems operational.

Table of Contents
SECTION1: INSTALLTHE HEADER. ...\ \tttttiitetteieeeeneeeeanneesnanneennnnens 2
SECTION2: 110 VAC GENERALWIRING ...t ttuttettiineeennneeennnneesenneeennnnnns 5
SECTION3: INSTALLTHE FIRSTHALFOFSWINGARM ......ouiuiiiiiinnennnnneennnnnns 6
SECTION 4: INSTALL THE SECOND HALFOF SWINGARM . ......tviiiinnennnnnennnnnn. 11
SECTIONS: INSTALLTHE MAGNETS ... \tttttiittetiiieetenneeennneeenanneeennnnns 14
SECTIONG6: INSTALLTHE ARM STOP ...\ttt etiiiteeeennteenanneenanneeennnnns 16
SECTION7: MAGNUM GENERALWIRING ... iuttttiiiteeneieeennnneenannneennnnns 17
SECTION 8: ADJUSTIMENTS .. \ttttttiitettiiteetenneeeeanneeeaaneeesanneeennnnns 19
SERVICE PARTS: GT 710 LOW ENERGY HEADER .. ...ttt tiiiieeniineennnnneennnnns 22
SERVICE PARTS: GT 8710 LOW ENERGY HEADER ... ..uutttiiiieiniieeennnnneennnnns 24
SERVICE PARTS: LOW ENERGY SWING ARM ASSEMBLIES .......cvvvineennnnnennnnnn. 26

1 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com

P/N C-00091 Rev 8-10-16

SECTION 1: INSTALL THE HEADER

11

1.2

Inswing Doors
FOR OUTSWING UNITS SKIP TO
SUBSECTION 1.2

1. Open the Swing door 90 degrees.
2. Measure between the wall and the outside face of the Swing Door.
a. There must be a 2 inch minimum gap.

b. If there is less than a 2 inch gap, please call Customer Service at (877) 622-2694.

Prepare the Header

Note: It may be necessary to remove the Motor/Operator from the Header to reduce weight, while positioning the Header onto
the Door Frame.

1. Place Header on flat surface with Side facing up.Protect header from scratches.
Remove two screws from underneath cover. Set Aside.
3. Remove Cover by:
» GT710: Lifting it straight off of Header.
» GT8710: Lifting it up from Header, and then pulling it out.
4. Remove boxes and/or parts bags from inside Header. Set aside.

g

Swing /
Cover in Closed Position up Lift UP to

\ to Open Pull out ,
/“'" GT 8710 Header

o 0 © 1

Remove Screws
\_ GT 710 Header

DN 1089 L

Figure 1 Remove Cover from Header

1.1.1 Drill Holes in Header (GT 8710)

FOR GT710 UNITS SKIP TO
SUBSECTION 1.3

1. Goto the Strike side of Header. Drill one 7/8 inch hole through the Header to allow all wiring to be drawn inside.

a. The GT-8710 Header can be ordered with a Knockout hole located at either end of the Header. For details, please call
Customer Service at 1-888-679-3319.

2. Go to the back wall inside Header on the Pivot side.

3. Measure 1 inch from the End Cap of Header towards the center. Mark a Vertical Line.

4. Measure at least 1/2 inch from the bottom of Header towards the top. Mark a Horizontal Line across the Vertical line. This is
the center of the first screw hole. Drill 1/4 inch screw hole.

5. Mark (1) more Horizontal line across the Vertical line directly above the first screw hole. This is the center of the second
screw hole. Drill 1/4 inch screw hole.
a. It may be necessary to install a Shim behind the Header if mounting the Header to a wall.

6. Go to the Strike side of Header. Repeat steps 3 thru 5.

/1/4” Screw holes

~ ¢ i
E E latleast

Pivot side of Header b ¢
H H ] 1/21/
— ] e

DN 1086 1”

Figure 2 Drill 1/4” Screw holes on both sides of Header

2 of 27



www.NabcoEntrances.com GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
Rev 8-10-16 P/N C-00091

1.3 Prepare the Door Frame

Note: The following instructions are for typical Metal Doors and Frame Profile. It is recommended to use lag bolts.

Note: If the Door Frame is not properly reinforced nor anchored to the building surface, and/or is hollow, reinforce the Door
Frame with 1/4-20 blind rivnuts (not provided by NABCO).

Note: If the Door Frame is not Metal, ensure the Door Frame being used is of equal strength.

1. Go to the Pivot Side of Swing door.
2. Measure up from the Bottom edge of the Top door frame:
» GT710:1/8 inch
» GT8710:1-1/8inch
3. Mark a Horizontal Line on the face of Top door frame, at both ends.

1-1/8” - l 1/

(GT 8710)
T \ Mark Measurement (GT 710)
op of Door

across Top door frame

DN 1109

Figure 3 Measure from the Top of Swing door to the Top Door Frame

4. Lift the Header up against the Top door frame until the bottom edge of Header is butted up against the Horizontal Line, at
both ends.
5. To ensure proper operation of the Swing Arm:
» ForaDoorJamb that is 1-3/4 inches wide, position the Pivot side of Header so it is flush to the outside edge of the
Pivot Door Jamb.
» ForaDoor Jamb that is wider than 1-3/4 inches, measure from the inner edge of the Pivot Door Jamb to the center.
Mark a vertical line at the 1-3/4 inch measurement. The Pivot side of Header must butt against the 1-3/4 inch mark.

/ o o
o

Pivot side of Header

1/4” screw holes 1-1/8”
T (GT 8710)
Pivot Door Jamb/_ _
Pivot side of Header l
o o o o

1/8”
T (GT 710)

1/4” screw holeV
DN 1116 Pivot Door Jamb”™ //\/\ ont

Figure 4 Position Header onto Door Frame

6. Ensure the Header is square and level.
7. Use the Header as a template to mark screw holes onto the face of the door frame.
8. Remove the Header. Set Aside.

1.4 Install the Shim (Only if deemed necessary)

FOR UNITS NOT INSTALLING A SHIM SKIP TO
SUBSECTION 1.5
1. Butt the Header up against the Horizontal line, line up the screw holes and then ensure the Header is square and level.
Go to the top of Header. Mark a horizontal line along the top edge of Header onto the wall.
3. Measure the depth between the back side of the Header and the wall.

N

a. Write that measurement down and label it #1.
4. Measure the distance between the top of door frame and the horizontal line that was just drawn at the top of Header.
a. Write that measurement down and label it #2.

3of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com

P/N C-00091 Rev 8-10-16
Measure between L
Top of Door Frame
and Top of Header T
DN 1084
Figure 5 Measure for Shim Dimension
5.

Obtain (1) Shim to be the same depth as measurement #1; no higher than measurement #2; and about the same width as
the Header.

6. Secure the Shim to stud(s).
a. Itisrecommended to use Lag Bolts.

Shim >/ Wall Header. Shim>/ Wall
Header\ \ e AW \ e

Top of Door Frame

Top of Door Frame

-y ey

\_ij Swing Door \_i

Swing Door

DN 1080

GT 710 SIDE LOAD SWING DOOR GT 8710 SIDE LOAD SWING DOOR

Figure 6 Shim between Conversion Unit and Wall

1.5 Secure the Header to the Door Frame

1. Lift up the Header to insert Power Wiring through the 7/8 inch hole.

a. Itisrecommended to use a Conduit.

b. Itis recommended to insert all other Wiring through a separate hole.

Line up the screw holes. Secure the Header to the Door Frame. It is recommended to use Lag Bolts.

a. For additional mounting on GT 8710 units: secure the Header to Studs located behind the Shim. It is recommended to
use Lag Bolts.

2.

1/4” Screw holes

Flush Header to
Pivot Door Jamb
DN 1132 (or 1-3/4” Vertical Line)

Figure 7 Secure Header to Door Frame

SECTION 2: 110 VAC GENERAL WIRING

4 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

P/N C-00091

8ITT Nd

‘Buaim a8e3jon mo| Jay3o pue syued Suirow woldy Aeme salim (1YAN) |e4INaN pue (3oe|g) 10H ainoy

"M3J2S pUNOJDH SWEeS 3y} 01 PIIBUU0D 3¢ 1shw aJim punoJs Suiwodu| pue (Sojeuy Jo y wnuSe|A]) a41m punoug [0J1U0D) By

"}INPUOD |EJ1I3D3|D JO§ 3JoYy Buljjldp usaym sdiyd |eIdW Wol) syusauodwod 3933044

"ue[dIUYI} |BJ1JII|D payllenb Ag apew g 3Shw SUOLIIUUOD [BI14193]]

3ullIM 910490 UOIBS ,SuoLepUIWWOI3Y Al94eS |BJ9UDD),, Y3 UIYUM suondnaisul Alajes peay
J9¥ealg 1e 440 sI Jamod aiansug

*

*

‘S310N

H4OOAd SNIMS d1vd SNOINVLINIS

5 of 27

www.NabcoEntrances.com

Rev 8-10-16

19MOd DVA 0CT 0T/8/0TL 19
Sulwoou|
(ONNOYD) NITYD———
(IVYLN3N) ILIHM A ILIHM
(LOH) Y2v18 v_ufm_lﬁ o
ILIHM
Youms tomco s V18—
JVAOTT o ———N3349— %5k m
I %o E 4 1
> = I
b @ q | W*
/ AN
MaJas punosy  **
19MOd IVA 071 400d SNIMS IT1ONIS
Sulwoou| 0T/8/0TL 19
- (ANNOYD) N33O
(TYYLNIAN) TLIHM
(LOH) Yov1g Ma19S pUNoIS
! s
YoUMS JO/UO DVA OTT *M o w*
YOUMS DVA OTT DIBUIBHY 445
ok KK M3JIS PUNOID) DBUIDYY 4 x

SOION 4




GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

SECTION 3: INSTALL THE FIRST HALF OF SWING ARM

3.1 Outswing Arm
FOR INSWING ARMS SKIP TO
SUBSECTION 3.2

Face of Swing Door O
= Reveal ® ®

Back of Header

;

DN 1082 Reveal

Figure 8 Whatis Reveal?

3.1.1: Prep the Swing Door

Table 1 Dimension “A” Arm Shoe Mounting Locations

Outswing
Pivot Type With Fingerguard No Fingerguard
GT 710 & 8710 Butt/Offset N/A 16-15/16"
Center Pivot N/A 16-15/16"

1. Goto Table 1 to measure the distance from the inside edge of the Pivot Door Jamb, or the Center Pivot to the center of the
first Sex Bolt hole (used to attach the Arm Shoe).

2. Mark a Vertical line on the face of the Swing door.

3. At the Vertical line, measure 1-1/2 inches from the top edge of the Swing door down to the center of the Swing Door.

4. Mark a Horizontal line to cross the Vertical line. This is the center of the first Sex Bolt hole.

Center Pivot

Butt/Offset
(Inner Edge of Door Jamb) A B

N Dim.A

16-15/16"

1-1/2”

Center mark for
first Sex Bolt Hole

Butt Hinge DN 1112

NN
Figure 9 Measure to Mark First Sex Bolt Screw hole

3.1.2: Prep the Outswing Arm Assembly

1. Remove the Swing Arm from the Threaded Rod. Set aside.

Threaded Rod

Rod End Arm Shoe
&

Nut
Figure 10 Disassemble the Outswing Arm

DN 1117

2. GotoTable 2 to locate the appropriate length measurement for the Threaded Arm.

Note: For Reveals that are 0 thru 6-1/2 inches, a 20 inch Threaded Rod must be purchased. For Reveals that are 6-3/4 inches
and higher, a 30 inch Threaded Rod must be purchased.

6 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

www.NabcoEntrances.com

Rev 8-10-16

P/N C-00091

Outswing Butt Hinge (Right Hand)

3.1.3:

(wweps) & 1z | (wwest),9

(ww zgs) £ 1z | (Wwopt) b g
(wwzes) 2 oz | (wwopt) g
(ww /zs) {07 | (WwweeT) F s
(wwtzs) foz | (ww/zr).s

(wwots) 2oz | (wwTer) v
(wwtrs) & oz | (WwytT) v

(ww 505) £ 61

(ww goT) f ¥

(ww 008) 3 6T | (wwzoT) &
(wwsey) 6T | (Wwse) k¢
(wwtey) 6T | (Wwes) €
(wwogy) E61T | (wweg),le
(wwesp) E8T | (wwoz),e
(wwezp) 8T | (wwos) ke
(wwozp) 8T | (wwpg), e
(ww sop) ,F 8T | (wwi/s) P
(wwooy) E8T | (wwrs),z
(wwosy) /1 | (wwyp) 21
(wwTsp) £ LT | (wwsge) it
(wwopy) 2 /1T | (wwze) b1
(WwTpy) & LT | (wwse),T
(wwzep) LT | (wweT) !

(ww zey) WLT (ww gt) £
(ww/zy) o | (wwo) ¥
(wwzzy) £ o1 (wwo),0

y18ua poy |eanay
g v

|eanay

WV
[—

+=—Frame "

yi8ua way

wlu

|eanay
M3IA wonog W

TZTING
LTOONQ

JooQg

*J00p 0} Sulyoene
2J0j9q WJe JO uonIsod

depano
JapeaH

v
(ww yp) <1

033dS NIV
éo
03345 HILV1

O
D3HD Yove

)
O

4

's3|oq xas pue

8uo| m X .um.wN OM} YHM

JOOp 0} }9)deldq uajse4

(ww ogy) MITH
(wwge) i1

SM3.2s aulydew peay punou

‘deo pua yoea u1 ajoy
paay [e11303]3 "elp (Ww Z7)

8
w7

(smauas poom 10)
s)j0g peaH xaH 0z-¢
Yum usisey g ||a

7 of 27



www.NabcoEntrances.com

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

P/N C-00091

Rev 8-10-16

Outswing Center Pivoted (Right Hand)

3.14

(ww zey) £ 6T

(ww zsT) ,9

(ww /81) 2 __ﬂ 6T

(ww 9yT) £ S

(ww T8Y) . 8T

(wwovt) £ g

(ww 9zv) & 8T

(wweet) 2S

(wwozy) & 8T | (ww/gT).S
(ww yoy) & 8T | (ww TZT) v
(ww £5p) 8T (ww pTT) £ ¥
(wwzsy) . £T | (wwgoT) £ v
(wwopy) & /T | (WwzoT) . p
(wwtyy) & L1 | (Wwse) g€
(wwgep) 41 | (wwes) S€
(ww ezy) & (wweg) b€
(ww pyzy) __m 9T | (wwoy),g
(ww gTy) 2 (wwoz)Le
(wwety) For | (wwp) bz
(ww 90v) , 9T (wwis) 22
(ww oov) __m ST (wwtg) .,z
(ww s6€) m (ww pp) 2 __m
(ww e8€) (wwsge) &1
(ww p8€) ._m ST | (wwze) bt
(wwgze) Byt (ww §7) T
(ww gzg) __m vl | (wwer).f
(ww z9€) JF v (wwer)
(wwizgg) 2 v (ww o) 2
(ww 95¢) T (wwo),0
y18uaq poy |eanay
] v

|eanay

WV
|

[ c——— I | i
g — =
TTITNG
8200NQ
10Ald JooQ
AE_W oz) yaduaq wiy
"¢ . N: M
|
|eanay
f M1/ wonog o
[
€ [©)} 100(Q
©
L )N
o | / e
) ek 8
) 7
VA ;
>’ ‘ded pua yoes ui ajoy
Je paay |e211123]9 "BIp (WW 77) __m
> &
Q <
N
*100p 0} Suiyoene
21043q W.e Jo uouIsod
's}|oq Xas pue
SMaJ2S dulydew peay punoJ
08 T—e| Suo) m X ON.« oM} yim (smauas poom Jo) ,
J100p 0} 193j0eIq U)SE S10g pedH XdaH 0C-¢
YUm udisey g |ud
depanp
Japes N\
P _._v (wwogt) , mﬁ
(ww py) Z1 (wwgg) 2 1

(ww g£2) Lot

8 of 27



www.NabcoEntrances.com GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
Rev 8-10-16 P/N C-00091

3. Measure the Threaded Rod between the center of each Eye, located on each Link, located at each end of the Rod. Please see
Dim B in Figure 11.

4. Remove the Link that is not attached to the Arm Shoe, from the Threaded Rod.

5. Cut the Threaded Rod according to the measurement that was determined in Step 3.

Face of Swing Door l (o I
Reveal = )ﬁ—*\
Back of Header
T Link
Arm/ Dim. B
Link
\
DN 1114
Eye
Figure 11 Measure the Threaded Rod Length

Obtain (1) color coordinated Plastic Tube from the Outswing Rod assembly.

Cut the Plastic Tube to the same length as the exposed Rod (between the Links and Nuts).
Slide the Plastic Tube over the Threaded Rod.

Replace the Rod Link back onto the Threaded Rod.

10. Tighten the Nut against the Link to prevent the Rod from screwing In or Out.

LN

1/4-20 x 2-1/4”
Phillips Head Screw

Sex Bolt
Threaded Rod

Swing Door. Color Coordinated Sleeve

DN 1097
Figure 12 Secure Arm Shoe to the Swing Door

3.1.5: Secure the Arm Shoe to the Swing Door

Butt the Arm Shoe against the Swing door. Align the first Sex Bolt hole to the measured Mark.

Ensure the Arm Shoe is square and level.

Use the Arm Shoe as a Template to mark the second Sex Bolt hole. Set aside.

Drill (2) 3/8 inch bolt holes all the way through the Swing door.

Go to the back of the Swing door. Insert each Sex Bolt into the drilled holes.

Go to the front of the Swing door. Secure the Arm Shoe to the Swing Door with (2) 1/4-20 x 2-1/4” Screws.

Face of Swing Door O
= Reveal
Back of Header e °

—
DN 1082 Reveal

oukwneE

3.2 Inswing Arm

Figure 13 What is Reveal?

9 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
P/N C-00091

www.NabcoEntrances.com
Rev 8-10-16

3.2.1: Prep the Swing Door

Note: Ensure there is a 2 inch gap between the wall and the outside face of the Swing door in the fully opened position

(90 degrees).

1. Go Table 3 or Table 4 to measure the distance from the inside edge of the Pivot Door Jamb, or the Center Pivot to the
center of the first Sex Bolt hole (used to attach the Track).
2. Mark a Vertical line reflecting the measured distance on the face of the Swing door.

Table 2 Small Track Mounting Locations (12-1/4 inches)

Dim A Dim A
Reveal Butt Hinge Center Pivot Center Pivot Reveal Butt Hinge Center Pivot Center Pivot
w/Finger Guard no Finger Guard w/Finger Guard no Finger Guard
0 7-5/8” 8-3/16” 7-3/16” 4” 14" 14-11/16" 13-11/16”
1/4” 7-3/4” 8-3/8” 7-3/8” 4-1/4" | 14-3/16” 14 -3/4” 13-3/4”
1/2” 7-15/16" 8-9/16” 7-9/16” 4-1/2" | 14-7/16” 14-3/4” 13-3/4”
3/4” 8-1/8” 8-3/4” 7-3/4” 4-3/4” 14-3/4” 13-3/4”
1” 8-5/16" 8-15/16" 7-15/16" 5” 14-3/4” 13-3/4”
1-1/4” 8-1/2" 9-1/8” 8-1/8” 5-1/4”
1-1/2’ | 8-11/16” 9-5/16" 8-5/16" 5-1/2” | 14-1/2”
1-3/4” 8-7/8” 9-1/2” 8-1/2" 5-3/4” 14-13/16" 13-13/16"
2" 9-1/16" 9-3/4” 8-3/4” 6”
2-1/4” 9-1/4” 9-15/16" 8-15/16" 6-1/4"
2-1/2" 9-1/2” 10-1/8” 9-1/8” 6-1/2” | 18-1/2”

2-3/4” | 9-11/16” 10-3/8” 9-3/8” 6-3/4” | 18-9/16” 18-7/8" 17-7/8"
3” 13-1/8” 10-9/16” 9-9/16” 7" 18-9/16” 18-7/8” 17-7/8”
3-1/4”| 13-3/8” 14-1/16" 13-1/16” 7-1/4” | 18-5/8” 18-15/16" 17-15/16"

3-1/2” | 13-9/16” 14-1/4" 13-1/4” 7-1/2" | 18-5/8” N/A N/A
3-3/4” | 13-3/4” 14-1/2" 13-1/2”
Table 3 Large Track Mounting Locations (21 inches)
Dim A 1))11 .
Reveal Butt Hinge Center Pivot Center Pivot Butt Hinge Center Pivot Center Pivot
w/Finger Guard no Finger Guard w/Finger Guard no Finger Guard
7-1/2” N/A 14-1/2" 13-1/2" 10-1/2”| 19-1/4” 14-9/16” 13-9/16”
7-3/4" 14-9/16” 13-9/16” 10-3/4” 19-1/4" 19-5/8” 18-5/8”
8” 14-9/16” 13-9/16” 11” 19-1/4”
8-1/4" 14-5/8” 13-5/8” 11-1/4"| 18-9/16”
8-1/2" 14-5/8” 13-5/8” 11-1/2”
8-3/4” 14-1/4” 14-5/8" 13-5/8” 11-3/4”
9” 14-5/8” 13-5/8” 12” 19-11/16” 18-11/16”
9-1/4" 14-5/8” 13-5/8” 12-1/4"| 19-5/16”
9-1/2" 14-5/8” 13-5/8” 12-1/2”
9-3/4” 14-5/8" 13-5/8” 12-3/4”
10” 14-9/16” 13-9/16” 13”
10-1/4"| 14-3/16” 14-9/16” 13-9/16”

10 of 27



www.NabcoEntrances.com GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

Rev 8-10-16 P/N C-00091
3. Go to the top edge of the Swing Door. Measure:
» 0Oinch Reveal (Straight Arm):
e 11/16 inch from the top edge of the Swing Door down to the center of the Swing Door.
» Reveals greater than 0 inch (L-Shape Arm):
e 1-9/16 inch from the top edge of the Swing Door down to the center of the Swing Door.
» New dimension not shown (L-Shape Arm):
e Reveal + 8-7/8 inch = New dimension
4. Mark a Horizontal line to cross the Vertical line. This is the center of the first Sex Bolt hole.
Center Pivot ° s o
B
Butt/Offset ° °
(Inner Edge of Door Jamb) - | | 11/16” or 1-9/16”
Straight Arm \ ~ Dim A -~
w/zero Reveal = 11/16” T g
L-Shape Arm ;enter mark for
w/other Reveals = 1-9/16” first Sex Bolt Hole
Butt Hinge DN 1088 L
Figure 14 Measure to Mark the First Screw Hole

3.2.2:

W R

Secure the Track to the Swing Door

a.

C.

a.

Butt the Track against the Swing door by aligning the first Sex Bolt hole with the measured Mark.
Ensure the Track is square and level.

Use the Track as a Template to mark the second Sex Bolt hole. Set aside.

Drill (2) 3/8 inch bolt holes all the way through the Swing door.

Go to the back of the Swing door. Insert each Sex Bolt into the drilled holes.

If the wall/frame is not straight, vertical, plum etc., install (1) Spacer (21-0902) behind the Track only if Reveal has a
variance of zero to 1/4 inch and a Straight Arm is being installed.

A Spacer is used to prevent the Swing Arm from hitting the lip of the GT-710 Header only (the GT-8710 Header does not
have a lip).

If a Spacer can not be obtained, a couple of washers can be used.

Go to the front of the Swing door.
Butt the Track against the Swing door by aligning the Sex Bolt holes.

Install (1) Spacer behind the Track for Swing doors with “0” Reveal (If required).

Secure the Track to the Swing Door with (2) 1/4-20 x 2-1/4” Screw.

DN 1099

A Spacer is only used with
a Straight Arm that is being
installed on GT-710 Units
Track to prevent the Swing Arm
hitting the Lip of Header.

Spacer

1/4-20 x 2-1/4”
Phillips Head Screw

Figure 15 Secure the Track to the Swing Door

11 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

SECTION 4: INSTALL THE SECOND HALF OF SWING ARM
4.1 Set Pre-Load

m Proper Preload is critical for the Control/Operator to open/close the Swing Door correctly.
CAUTION Power must be turned OFF during the Swing Arm installation.

1. Locate pre-load numbers 1-4 on the Bottom of the Operator Spindle.
a. Pre-load numbers 1-4 mark the correct installation position for pre-load.

Pre-Load Mark

Pre-Load Numbers

PRELOAD: (1) NOTCH = 18 DEGREES

DN 1120

Figure 16 Pre-Load Numbers

2. Obtain the Swing Arm.
3. Slide the Swing Arm onto the Operator Spindle by aligning the appropriate pre-load number to the pre-load mark on the
underside of Swing Arm:

RH Outswing LH Outswing RH Inswing LH Inswing  RH Inswing-0 Reveal = LH Inswing-0 Reveal
1 2 3 4 4 3

4. Please see Figure 17, or Figure 18, or Figure 19.

RIGHT HAND OUTSWING LEFT HAND OUTSWING

DN 1113

" LEFT HAND INSWING

DN 0023

RIGHT HAND INSWING
DN 0022
DN 1134

Figure 18 Preload: Inswing Arm

12 of 27



www.NabcoEntrances.com

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

Rev 8-10-16

P/N C-00091

LEFT HAND INSWING
0 REVEAL

DN 0025

DN 1129

nﬂj i /\

~9

RIGHT HAND INSWING
0 REVEAL

DN 0024

PRELOAD: (1) NOTCH = 18 DEGREES
Figure 19 Preload: Inswing Arm with Zero Reveal

5. Secure the Swing Arm to the Operator Spindle with (1) Set Screw. Tighten but do not overtighten.
a. Ensure the Set Screw is seated correctly within the groove on the Operator Spindle.

4.2 Secure the Swing Arm to the Swing Door
4.2.1 Outswing Arm

1. Align the screw hole at the end of Swing Arm to the Rod End screw hole.
2. Pull the Swing Arm towards the Rod to connect.

3. Secure the Swing Arm to the Threaded Rod with (1) 3/8”-24 x 1-1/4” Socket Screw, (1) .405 Washer, and (1) 3/8”-24
Lock Nut.

Threaded Rod Threaded Rod 3/8"-24 x 1-1/4”

5/16-24
Set Screw

Swing Arm
(Low Profile)

S

3/8”-24 x 1-1/4”
Socket Screw

.405 Washer

5/16-24
Set Screw

Swing Arm
(Standard Profile)

Socket Screw

405 Washer

o 0 \@

3/8”-24 Lock Nut

DN 1104

—~ 3/8”-24 Lock Nut
Figure 20 Connect the Swing Arm to the Threaded Rod

4.2.2 Inswing Arm

1. Remove the first 1/4-20 x 2-1/4” Screw (closest to the Pivot Door Jamb) that is used to secure the Track to the Swing door.
a. That side of the Track will hang down.

2. Close the Swing door to allow the Wheeled Roller (located at the end of the Swing Arm) to butt against the Swing door.
Pull the Swing Arm to the Swing door, then raise the Track.
4. Secure the Track to the Swing door with (1) 1/4-20 x 2-1/4” Screw.

w

13 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

21” Track Inswing Arm
Wheeled Roller /
Inswing Arm
“0” Reveal

12-1/4” Track

Wheeled Roller
7 ’ &

A\

L.

DN 1105
Figure 21 Insert the Swing Arm into the Track

SECTION 5: INSTALL THE MAGNETS
CAUTION Power must be turned OFF while installing the Magnets.

Note: Magnetic Reed Switches are reversed according to Handing of door (LH vs RH).

When Magnets are correctly set, the Green LED on the Magnum 4A Control will be:

» OFF when the door is closed.
» Fast Flashing when opening.
» On Solid at Back Check.
» Slow flashing when closing.
» OFF again at Latch Check
1. Go to the Magnum 4A Control. Disconnect Power.
2. Unplug the J4 Connector.
3. Set the Current Limit Switch to Maximum. (Clockwise)

1 @ BACK FOR DOOR
j@ CHECK <«— XXXN%\‘D %)CLOSED
SWITCH UNKIS SWITCH

@

O

[~ Main Sprocket Gear

/ Door Closed Magnet
DN 0586 Back Check Magnet

Figure 22 Insert Magnet underneath Door Closed Switch

14 of 27




www.NabcoEntrances.com

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

Rev 8-10-16 P/N C-00091
DOOR FULLY OPEN
NA a4
RIGHT HAND LEFT HAND
OUTSWING W OUTSWING
[
Back Check
Magnetic Switch
LEFT HAND o o RIGHT HAND
INSWING INSWING
Back Ch.eck ) Back Check
Magnetic Switch Magnetic Switch
© ©

DN 1135

DN 0062

DN 0063

DN 0064 A ~N

DN 0065

ALL MAGNETS MUST BE INSTALLED WHITE SIDE UP
DOOR FULLY CLOSED
s |:| |:| 2
i Y o ey, g
1 o H 7} :

RIGHT HAND  an ¢ LEFT HAND
OUTSWING OUTSWING
Door Closed Door Closed

Magnetic Switch Magnetic Switch
LEFT HAND boor Closed RIGHT HAND
INSWING Magnetic Switch INSWING

Figure 23 Install the Magnets

15 of 27




GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

www.NabcoEntrances.com

P/N C-00091

5.1 Insert the Back Check Magnet
When the Magnet is correctly set, the Green LED on the Magnum 4A Control will be:

»  ON steady when the Swing door is in the fully Open position after an activation.

1. Obtain (1) 1/4 inch square x 1 inch long Magnet.
Manually open the Swing door to the Fully Open position (90 degrees).
3. Place the Magnet (White side up) directly underneath the Back Check Magnetic Switch.

N

5.2 Insert The Latch Check Magnet

When the Magnet is correctly set, the Green LED on the Magnum 4A Control will be:
»  OFF when the Swing door is in the fully Closed position.

1. Obtain (1) 1/4 inch square x 1 inch long Magnet.
2. Manually Close the Swing door to the Fully Closed position (0 degrees).

3. Place the Magnet (White side up) directly underneath the Door Closed Magnetic Switch.

5.2.1 Test the Magnets

Rev 8-10-16

Note: If the Back Check magnet is installed with the Swing door fully open (90°), opening speed does not need to be adjusted.

1. Turn Power ON.
2. Electronically close the Swing door.

a. Asthe Swing door closes to the 15 degree mark, the Door Closed Magnet starts to rotate underneath the “Door Closed”

Magnetic Reed Switch. The Swing door will start to slow down.

b. Atthe 0 degree mark, the Latch Check Magnet is fully underneath the Door Closed Magnetic Switch.

3. Relocate the Magnet if adjustment is deemed necessary.

SECTION 6: INSTALL THE ARM STOP
CAUTION Power must be turned OFF while installing the Arm Stop.

CAUTION Do Not drill screw holes for the Arm Stop into the Motor/Operator!!!

1. Turn Power OFF.
2. Manually open the Swing Door 90 degrees.
3. Position the Arm Stop at the bottom of Header according to type of Swing Arm and Reveal shown in Figure 24.
4. Use the Arm Stop as a template to mark and drill (2) 7/32 inch diameter screw holes.
5. Secure the Arm Stop with (2) 1/4-20 x 1 inch Self Tapping screws.
INSWING ARM INSWING ARM
OUTSWING ARM (0-1/4” REVEAL) (GREATER THAN 1/4” REVEAL)

Outswing
8400
8500
8710

Inswing
8400
8500
8710

Position Arm Stop as shown.
Drill (2) 7/32” diameter holes.
Fasten with (2) 1/4-20 screws.

Inswing

H
H
H =
) (
E Position Arm Stop as shown. & @
; Drill (2) 7/32” diameter holes.
H Fasten with (2) 1/4-20 screws.
00 é @® Position of Swing Arm
I when Swing door is
/

N opened to desired position. ||
| Position of Swing Arm

when Swing door is
opened to desired position.

|

L I — | 1
DN 1064 illi
CAUTION Remove Operator before drilling holes for Arm Stop.

Figure 24 Arm Stop Configurations

Position Arm Stop as shown.
Drill (2) 7/32” diameter holes.
Fasten with (2) 1/4-20 screws.

16 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

www.NabcoEntrances.com

Rev 8-10-16

P/N C-00091

MAGNUM GENERAL WIRING

GT-710-8710 Single Swing Door

SECTION 7

7.1.1

¢S00 Nd

HOLIMS
¥INO0Y
440/NO

O]
1oH Jamod
[BANSN  fyn spinoid

% [SEETEE]

Movia

o (@]

N"J

LI T T
R

[

@ /

VA

0ol

NIFHO!

&

(690€01 u/d) youms
paay onaubepy

/

(5900122 u/d) ssauteH ulely

/nammm& uyd)

SSOUIEH JoMOd

‘A1L03d1a XO01d TVYNING3L
OL STYNOIS NOILVAILOY FHL LOINNOD

Pasn 10N
YOUMS e
1018
|eoidA]

>

so1neQ

NOUVAILOY LA L “G34INOFY LON SI HOLIMS ¥3NO0H 4
NOWWOD OVA 2 a3y S#
LNOMOOT HLIM AL3VS EM
a3y i2dQ pIoH|
AL34VS SNONNILNOD 1370IA  [e# SI0SUBS 10} m&t\s EDE
LOH OVA ¥2 JONVHO |2# ~3Q~30 XNV OVA ¥2 / MOvg A u QV o )
WILN3N OVA 12 Nmods | 1# 825€01 U/d) Youms
Y0079 YNINYIL
I| _
mza—..__ O N towwoy
OVA ¥Z _.e \v_ ndu; ndu| indu|
Ireg OVA VT OVA ¥C OVA T
Josuag [eoldA|
Ayeyes snonunuod Buims Joop Buunp
10007 YIm Ajojes uoneAdy

17 of 27




www.NabcoEntrances.com

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

P/N C-00091

Rev 8-10-16

GT-710-8710 Simultaneous Pair Swing Door

7.1.2

(4OSN3S 3AIS-ONIMS
Q3LNNOW ¥OOQ WO¥ LNdLNO)
AL34YS SNONNILNOD

(4OSN3S 3AIS-ONIMS
QV3HYIAO WO¥H 1NdLNO)
LNOMOOT HLIM ALIHVS

('013 '31V1d HSNd “¥3IAIZOIY
JLOW3Y “HOSNI3S WO¥A LNdLNO)

\ IVHLNIN OVAYZ NMO¥S | 1# avso00 Na
S#TYNINE3L OL LOH OVAYZ JONVYHO | z#
; AL34VS SNONNILNOD LTT0IA |#
\ LNOMOOT HLIM AL34VS ALIHM | v#
S#TUNINEL OL L] NOWWOD OVAPZ a3y |s#
§ ,/M.»/m__ NOLLVAILOY sovg | o#
=
/. TNEN: 0079 TYNINYAL
NOILVAILLOY OV 18—
g mt_;>>
¥S00NQ
1do pioH
ng
UOIMS 19X00Y Z1-SY |k
8¢G€-0l # Hed
§9001-22 # Lyvd
\mmmz%(: NIVYN
ANNOYD
@ Hﬂ NEEN % ANNOYO F0INYTS
JLIHM:
pelal:] /ioi LHM +LOH. OVA 021
ay¥vogd TO¥LNOD WNNOYW elal:] + 1IVHLN3N. OVA 021
LAl
] ] o
HOLVYIdO ¥3d
A JOIAYIS FHAINY S WNINININ
G8LEL-LL 'Nd
HOLIMS
U3IMO0Y
»ovia 440NO

ﬁ/ﬂ

‘034 OL XOV1d 'MOv19 01 a3y
‘SIHIM HOLOW IHL HOLVIN-SIN
‘SYOLVHIHO ANVH 1437804

MOV18 OL X0V18 ‘a3y 01 a3y
‘SIHIM HOLOW HOLYIN
'SYOLVHIHO ANVH LHOIY ¥O4

o

INO 042 ¥O4
9€Z1-LL 'Nd
3SNd4 YOLOW

MOvV8 ® a3y

S~ <=/

\

MOv1g® a3y

18 of 27



www.NabcoEntrances.com GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
Rev 8-10-16 P/N C-00091

SECTION 8: ADJUSTMENTS

8.1 LCN Tension Spring

m Improperly installed/adjusted Tension Springs may cause property damage or personal
injury. Please follow instructions carefully.

CAUTION Opening Force must be properly adjusted on the LCN Tension Spring - BEFORE - the
Magnum 4A Control can be adjusted.

8.1.1 Adjust Opening/Closing Force (Manual Mode)

The LCN Tension Spring is used to adjust Opening/Closing Force when the Swing door is used Manually. The Factory preset
force is ideal in most cases. Adjustment should only need to be done in special cases.

1. Turn Power OFF.

2. Insert 5/32 Allen Wrench in the Screw located at the end of the LCN Tension Spring.

a. The Spring should be adjusted so that the Swing door can be easily pushed open, but still have enough force to fully
close the Swing door.

3. To Increase Opening/Closing Force, turn the 5/32 Allen wrench clockwise not more than (9) full turns.

4. To Decrease Opening/Closing Force, turn the 5/32 Allen wrench counterclockwise not more than (4) full turns.

LCN Tension Spring

J 5/32” Allen Wrench

Figure 25 Adjust Door Open Force

DN 0531

8.2 Hydraulic Speed Control (Automatic Mode)

Note: The Close and Latch Potentiometers located on the Magnum 4A Control is disabled and has no effect.

Hydraulic Speed Controls

The main sprocket may block access to the

/
L] _ | main speed hydraulic adjustment valve.
F = #/ \ﬁ Moving the door slightly open or closed will
= align holes in the sprocket with the holes in the
C X

Header allowing access to the valve.

BACK CHEC]
STe

®

LATCH SPEED
O

MAIN SPEED

Note: Use a 3/32 Allen Wrench

DN 0562 Swing Arm

Figure 26 Bottom of Header

8.2.1: Adjust Main Speed

1. Turn Power OFF.
2. Insert 3/32 Allen Wrench into the Main Speed adjustment hole.
a. Ifthe adjustment hole is blocked by the sprocket, slightly close the Swing door until the adjustment Valve can
be accessed.

3. Turn the Allen Wrench clockwise to slow down closing speed.
8.2.2: Adjust Latch Speed

1. Turn Power OFF.
2. Insert 3/32 Allen Wrench into the Latch Speed adjustment hole.

19 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

3. Turn the Allen Wrench clockwise to slow down Latch Check speed.
4. Manually push the Swing door open, then let it close.

5. Test Latch Check speed. Re-adjust if necessary.
8.

2.3: Adjust Back Check Speed

This adjustment should not be confused with the Back Check (BCHK) setting located on the Magnum 4A control. BCHK
determines the amount of power applied to the motor to push the door open through Back Check.

Turn Power OFF.

Insert Allen Wrench into the Latch Speed adjustment hole.

Turn Allen Wrench clockwise to increase hydraulic tension at back check.

Manually push the Swing door open.

Test Back Check speed. Re-adjust if necessary.

ARl ol o

8.3 Magnum Control Adjustments

Before adjusting speeds:

»  Set the Current Limit to maximum

»  Adjust the Open-Close-Check speeds
» Adjust current limit to the proper level

Table 4 Dip Switch Information

Dip Switch ON Position OFF Position
1 Not Used Not Used
2 Normally Open Safely Normally Closed Safely
3 Push-N-Go Inactive Push-N-Go Active
4 Timer Mode Sequential Mode

Table 5 Slide Switch

UP Low Energy (GT-710 & 8710)
DOWN High Energy (GT-300 & 400 only); Door opens faster

Table 6 Potentiometers and Functions

Potentiometer Function

STOP P Adjusts how door reacts to continuous safety input (terminal # 3) during Opening. Counterclockwise =
door slowly closes, Clockwise = door creeps open

P For Magnum 4 and 4A only:
After 8 seconds of the door being held open, motor voltage is lowered to reduce stress on motor and
control. “stop” will adjust this reduced voltage.

OPEN Adjusts opening speed. Clockwise = Faster
BCHK Adjusts Back Check speed. Clockwise = Faster
TDAS Adjusts how long door remains open after activation signal. Clockwise = Longer
TDPG Adjusts how long door remains open after Push-N-Go. Clockwise = Longer
LCHK Adjusts Latch Check speed. Clockwise = Faster
CLOSE Adjusts closing speed. Clockwise = Faster
Current Limit Adjusts how hard the door will push against an obstacle (while opening) before recycling.

Clockwise = less sensitive

20 of 27



www.NabcoEntrances.com GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
Rev 8-10-16 P/N C-00091

Table 7 Magnum Control LED Information

LED Color LED Status Door Status
Green Fast Flashing (2 flashes per second) Door is opening.
On Steady Door is in Back Check.
Slow Flashing (1 flash per second) Door is closing.
Off Door is in Latch Check or Closed
Red Indicator Action
Slow Flashing (1 flashes per second) Continuous Safety Activated
Fast Flashing (2 flashes per second) Safety with Lockout Activated
On Solid Recycle Activated

21 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

SERVICE PARTS: GT 710 LOW ENERGY HEADER

* Sold in Parts Bag 12-5662-01
** Sold in Parts Bag 12-11358

DN 1123

22 of 27



www.NabcoEntrances.com

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide

Rev 8-10-16

Item

w

O 00 N o b

11

12
13
14

15
16
17

18
19
20
21
22
23
24
25

26

27

28
29

P/N C-00091

GT 710 Low Energy Header

Part Finish/Sizes/Notes

24-0094-04
24-0094-16
14-9199
21-9941-01 RH
21-9941-02 LH
24-4941-19
22-1774
14-9960
22-0779
11-10286
22-10065
22-10270
14-9511-04
24-0015-61 Zinc
24-0015-62
24-9800
24-0010-03
14-9470 Magnum 4A only
14-11862
14-9943
10-3527
22-1772-03
22-1772-05
10-3528
24-0017-47
14-10015
14-8743
14-11586
24-4941-21
14-12073
24-0011-13
24-0011-96
22-10311-01 RH
22-10311-02 LH
11-13185

14-8743
24-0010-01

Single Swing Door

Simultaneous Pair Swing Door

Dark Bronze

Magnum 1-4 only

Magnum 1-4 only

Description
SCREW, PHLLPS PAN HD MACH #8 X 5/8” AB
SCREW, PHLLPS PAN HD MACH #8 X 5/8” AB
NAMEPLATE, ADHESIVE BACKED
MAGNETIC SWITCH SUB-ASSY, RH
MAGNETIC SWITCH SUB-ASSY, LH
HHMS,WASHR,5/16-18 X 1” TYPE F
PWR HARNESS - SWGR & SLDR-UL PART
SADDLE WIRE
POWER HARNESS ASSY - SWINGER
MOTOR HARNESS ASSY, GT710
HARNESS ASSY - MAGNUM, SINGLE
MAGNUM HARNESS ASSY, SIM PAIR
PLUG, HOLE, .813 DIAMETER, BLK
RHMS,1/4-20 X 3/4” PHIL, TYPE F, ZN
RHMS,1/4-20 X 3/4”PHIL,SELFTAP
MAGNUM CONTROL BOARD
SHCS, 10-24 X 1
FUSE, MC
FUSE 5 AMP
MAGNET, CERAMIC 1/4” SQUARE X 1”
LE RS-11 ON/OFF RCKR SWITCH ASY W/FPLT
KEY SWITCH KS-14 3 POSITION
KEY SWITCH KS-16 2 POS MOMENTARY
LE RS-12 ON/OFF/HLD OPN RCKR SWITCH ASY
WASHER, 156 ID X .750 OD X .020 THK
FUSE COVER
SPACER - NYLON #10 X 5/8 3/8 OD
ARM STOP 710
PHMS,PHIL,1/4-20 X1 1/2” TYPE F
ARM STOP ASSEMBLY FOR SIDELOAD
FHMS, 1/4-20 X 3/4”, PHIL, ZN
FHMS,1/4-20 X 3/4,PHIL
OPER.ASM,GT710,RH
OPER.ASM,GT710,LH
POWER SWITCH ASSY, SWINGERS / 710
SPACER - NYLON #10 X 5/8 3/8 OD
SHCS,10-24 X 7/8CAD-UL PART

23 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

SERVICE PARTS: GT 8710 LOW ENERGY HEADER

* Sold in Parts Bag 12-5662-01
** Sold in Parts Bag 12-11358

15

16

23*\‘
DN 1128 N

24 of 27

24




www.NabcoEntrances.com
Rev 8-10-16

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
P/N C-00091

GT 8710 Low Energy Header

Finish/Sizes/Notes

Description

1 22-10311-01 RH OPER.ASM,GT710,RH
22-10311-02  LH OPER.ASM,GT710,LH

2 21-9941-01 RH MAGNETIC SWITCH SUB-ASSY, RH
21-9941-02 LH MAGNETIC SWITCH SUB-ASSY, LH
24-4941-19 HHMS,WASHR,5/16-18 X 1” TYPE F

4 24-0011-70 Zinc FHMS, 1/4-20 X 7/16”, PHIL, UND, ZN
24-0011-73 Black Onix FHMS,1/4-20 X 7/16”, PHIL, UND, BLK OX

5 24-0011-13 FHMS, 1/4-20 X 3/4”, PHIL, ZN
24-0011-96 FHMS,1/4-20 X 3/4,PHIL

6 14-8743 SPACER - NYLON #10 X 5/8 3/8 OD

7 24-0017-47 WASHER, 156 ID X .750 OD X .020 THK

8 24-0010-03 SHCS, 10-24 X 1

9 14-9470 Magnum 4A only FUSE, MC
14-11862 Magnum 1-4 only FUSE 5 AMP

10 14-10015 Magnum 1-4 only FUSE COVER

11 24-0094-04 SCREW, PHLLPS PAN HD MACH #8 X 5/8” AB

12 14-9199 NAMEPLATE, ADHESIVE BACKED

13 10-3528 LE RS-12 ON/OFF/HLD OPN RCKR SWITCH ASY

14 22-1772-03 KEY SWITCH KS-14 3 POSITION
22-1772-05 KEY SWITCH KS-16 2 POS MOMENTARY

15 10-3527 LE RS-11 ON/OFF RCKR SWITCH ASY W/FPLT

16 22-0779 POWER HARNESS ASSY - SWINGER

17 22-1774 PWR HARNESS - SWGR & SLDR-UL PART

18 14-9960 SADDLE WIRE

19 14-12073 ARM STOP ASSEMBLY FOR SIDELOAD

20 14-11586 ARM STOP 710

21 24-4941-21 PHMS,PHIL,1/4-20 X1 1/2” TYPE F

22 22-10065 Single Swing Door HARNESS ASSY - MAGNUM, SINGLE
22-10270 Simultaneous Pair Swing Door MAGNUM HARNESS ASSY, SIM PAIR

23 14-9943 MAGNET, CERAMIC 1/4” SQUARE X 1”

24 11-10286 MOTOR HARNESS ASSY, GT710

25 11-13185 POWER SWITCH ASSY, SWINGERS / 710

26 14-8743 SPACER - NYLON #10 X 5/83/8 OD

27 24-0010-01 SHCS,10-24 X 7/8CAD-UL PART

28 24-9800 MAGNUM CONTROL BOARD

25 of 27



GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide www.NabcoEntrances.com
P/N C-00091 Rev 8-10-16

SERVICE PARTS: LOW ENERGY
SWING ARM ASSEMBLIES

Outswing Arm Assembly

Inswing Arm
Reveal Equal to 0 degrees

(CU) Inswing Arm Assembly

Reveal Greater than 0 inches Low Profile
Outswing Arm Assembly

Inswing Track Assembly

10 Arm Stop Assembly

P 1

DN 1073

26 of 27



www.NabcoEntrances.com
Rev 8-10-16

GT 710-8710 Low Energy Swing Doors Quick Set-Up and Parts Guide
P/N C-00091

Low Energy Swing Arm Assemblies

Finish/Sizes/Notes

Description

1 24-0016-33 SCREW, SET 5/16-24 X 1/2, CUP POINT

2 24-0011-15 SCREW, 3/8”-24 X 1.25 LG, FHCS, ZINC

3 24-0017-07 WASHER, 3/8 ID X 3/4 OD X.375 THK ZINC

4 11-1935 REPLACEMENT ROLLER ASSY

5 21-0902-01 Clear CU - INSWING ARM, NON PANIC NH 204
21-0902-02 Dark Bronze CU - INSWING ARM, NON PANIC NH 313

6 22-13992-41  Clear KIT,SWINGER ARM 20 IN.204
22-13992-42 Dark Bronze KIT,SWINGER ARM 20 IN.313
22-13992-51  Clear KIT,SWINGER ARM 30 IN.204
22-13992-52  Dark Bronze KIT,SWINGER ARM 30 IN.313

7 21-8848-41 Clear OUTSWING ARM ASSY, 20” ROD, 204
21-8848-42 Dark Bronze OUTSWING ARM ASSY, 20” ROD, 313
21-8848-51 Clear OUTSWING ARM ASSY, 30” ROD, 204
21-8848-52 Dark Bronze OUTSWING ARM ASSY, 30” ROD, 313

8 12-1355 Clear PARTS BAG, TRACK & ARM CU GUIDE CLEAR
12-1355-02 Dark Bronze PARTS BAG, TRACK & ARM CU GUIDE BRONZE

9 21-10546-41  Clear C.U. OUTSWING ARM ASSY, 20” THREADED ROD
21-10546-42  Dark Bronze C.U. OUTSWING ARM ASSY, 20” THREADED ROD
21-10546-51  Clear C.U. OUTSWING ARM ASSY, 30” THREADED ROD
21-10546-52 Dark Bronze C.U. OUTSWING ARM ASSY, 30” THREADED ROD

10 14-5806 SPACER, TRACK - 1/4” X 12-1/4” BLK

11 21-0997-01 Clear CU - GUIDE TRACK ASSY 12.25” 204
21-0997-02 Dark Bronze CU - GUIDE TRACK ASSY 12.25” 313
21-0998-01 Long/Clear CU - GUIDE TRACK ASSY 21” 204
21-0998-02 Long/Dark Bronze CU - GUIDE TRACK ASSY 21” 313

12 14-12073 ARM STOP ASSEMBLY FOR SIDELOAD

13 14-11586 ARM STOP 710

14 24-4941-21 PHMS,PHIL,1/4-20 X1 1/2” TYPE F

15 21-10329-11  LH/Clear ARM, INSWING LH 204 REVEAL 0-2
21-10329-12  LH/Dark Bronze ARM, INSWING LH 313 REVEAL 0-2
21-10329-21  LH/Clear ARM, INSWING LH 204 REVEAL 2-5 1/2
21-10329-22 LH/Dark Bronze ARM, INSWING LH 313 REVEAL 2-5 1/2
21-10329-31  LH/Clear ARM, INSWING LH 204 REVEAL 5 1/2-9 3/4
21-10329-32  LH/Dark Bronze ARM, INSWING LH 313 REVEAL 5 1/2-9 3/4
21-10329-41  LH/Clear ARM, INSWING LH 204 REVEAL 9 3/4-13
21-10329-42 LH/Dark Bronze ARM, INSWING LH 313 REVEAL 9 3/4-13

16 21-10329-51  LH/Clear ARM, INSWING RH 204 REVEALO - 2
21-10329-52  LH/Dark Bronze ARM, INSWING RH 313 REVEALO - 2
21-10329-61  LH/Clear ARM, INSWING RH 204 REVEAL2 -5 1/2
21-10329-62 LH/Dark Bronze ARM, INSWING RH 313 REVEAL2-51/2
21-10329-71  LH/Clear ARM INSWING RH 204 REVEAL 5 1/2-9 3/4
21-10329-72  LH/Dark Bronze ARM INSWING RH 313 REVEAL 5 1/2-9 3/4
21-10329-81  LH/Clear ARM INSWING RH 204 REVEAL 9 3/4-13
21-10329-82 LH/Dark Bronze ARM INSWING RH 313 REVEAL 9 3/4 - 13

27 of 27



